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I a2 mwn —invalidation via 1nt> pim 1mMpnY yin navnn
a  If: onw the 127p to perform 1”771 (all/ part) outside of the n71y; to burn up the o 1R (all or part) outside, to eat the
meat, or even 1 n'13 of it outside, or to eat 13 of the skin of the tail outside Then: 91048 — but no n13 attaches
b If:...to do 11 (all or some) on the morrow; to burn up the n™mR (all or some) on the morrow; to eat its meat (all or
1n°13) on the morrow or to eat n°rd from the fat of the tail on the morrow —Then: 939 — and n7) attaches
I Analysis of the inclusion of 1980 7 as something to be eaten in the wrong place/time
a  Assumption: our Rin reckons nawnn to eat something which ought to be burned (7°>&n 1) as impactful
i S81pw: our mwn is authored by 8”1, who allows for DR nam nawnn and vice-versa
it Support: 33 DNAT—N™Y PIN NawYNN to eat something not eaten (or burn something not burnt Yw3; X" — Noa
iii ~ Challenge: »:2 onar (ahead — “R2°0”) — rule only includes 10pn%/5198Y 1277V 127
1 Answerl (5x%0®): RO is R™, R0 is 1327
b x27 77 the skin of the nOR (tail) is not like the "9& — it isn’t burnt, but eaten (all follows nman) - perv. 1
¢ ~7on 1. the skin is like the YR — but our case is a goat (not a lamb) — in which both are eaten (again, follows n>n3n)
i splits: n"n 0™ don’t split authorship; Y81 N1 hold that noR::1p; YRINWY N7 — already taught N5R: WY (2:0 PHIN)
1 Defense: n"1 — it is needed; from pYIn, we only know that 983 for nkn1o, but for 127p, per v. 2, R"To must be
like royal food (not n9xn 1Y) — HY"np
ii  Challenge: (®Rn>12) — V'Y of an Ny with intent to burn MYRn MY in wrong place — 51v9; at wrong time — 5o
1 Additionally: ™ adds all of those pelt-areas listed in 2:0 YN
2 Note: only n9w listed — works for 1", not n"
3 Defense (n”): either the reference is to *1, or the wording of ®xn»1 is “nat”, not just "ny”
III  Source for N3 2"RY 9108 for 1MPNRS PN as opposed to N73 12 WM Y19 for NY PIN
a SN resolution of two passages in v. 3; w25 a0ty YIn; 5120 1 1mpnY yin
i 12pp: means only one of these carries n15 — must be 1ntY yIn, as that was the first one listed
ii  Challenge: perhaps it is 1mpn> yin, as that is adjacent to the punishment; rather...
b »ax: from superfluous 5w in v. 4 (already in v. 3) — extends to 1MpnY yin
i And: exclusive statement (ibid) — ®w> 1Y 19218 — and not 1MpnY yin (but there is n73 for M)
1 Challenge: perhaps 1928 refers to Ympn% yin and anm is excluded from n7
2 Answer: reasonable to associate Im::Nt> YN via my:y (vv. 3-4); both time-related & apply even at nna
(a) Challenge: perhaps 1mpn> yin is closer as W"1pn (MwHw” ,07 ,NXP ,N2WNN) is common to them; rather...
c 7 wTpswp (vv. 4-5) —both are 1m, and v. 4 excludes another from n13 = 1MpnY yin is only Y109
i Challenge: why identify v. 3 as a0t pin and v. 4 as y1mpn’ yin, leading to exclusion from n2?
ii ~ Answer: reasonable to infer via my::1ny, as MY pIn is similar to AN in 271 (Mna ,jr)
1 Challenge: perhaps v. 3 is ympn% yin, and v. 4, adjacent to °1m, is 101> pyin which is similar to 91n? Rather...
d a7 allinferred from the “long” moa (v. 3):
i 998 HIRN - refers to two “devouring” — human and the nam (nyopn)
ii YW nar wan —just as 0'NYY has both a Y3an (0T) and Y3ann (1W1); so too with any nar
iii  "wYwn — refers to NN PN nawvnn
iv  nx¥v RS —only applies when the proper n»'nn have been brought
v 2mpnn - only invalidated at point of n23pn, not on third day (wYw)
vi MR - only 129p is invalidated, not jn>
vii 2wn RY — teaches that mawnn can be mixed (i.e. 108 nawnn can undo effect of Y15 nawnn)
viii 9 — this is 1Mpnd yin
ix - unifies them into one, i.e. Da7V¥N DYV (e.g. Y2 M1 of 9109 joins with Y2 nora of H19)
X 1nn nYaRD waym — only one has n13 (nth yin, inferred from 9 via my::y as above, similar in 2”1)
1 Question (9”10f #27): what is need of *vYw in v. 4?
2 Answer: to teach that ympn% yin must be 3-fold use, DR ;791,07 (not Y37n)
3 Challenge: why not learn it from »»%w in v. 3?
(a) Answer: from there, we would have made 9521 v (Hwa ,»w%w) and included all places — 9"np
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